B OLYMPIAD

Mock Test

. Which one of the following digits is
at the place of ten thousand in the

numerals 81564 ?
(a) 5 (b) 4
(c) 8 (d) 2

The expanded form of the ntynhbeér
648345 is
(a)6+4+8+3+4+5

(b) 600000 + 400008000 + 300 +
40+ 5

(c) 60000 + 49@0+ 83000 + 45

(d) All ofthese
There is\a‘straight street between
Indiagate and President house. If

president house is supposed to be
point A and India gate is point B,
then the length of street between
the points is

5.

BAA S

Max. Marks : 35

“3\@ Time: 2 Hours

LN
(a)"A line

@) A line segment

(¢) An arrow

(d) All of these

How many triangles are there in
the figure below ?

(a) 9
(c) 6 (d) 3

How much is 65 kg greater than
62450g?

(a) 2kg 500 g
() 2kgb50¢g

(b) 8

(b) 2kg400g
(d) 2kg450¢g


















2 Hints & Explanatiop,
MOCK TEST-2
; 4 (e) 8. (e) 15. (a) 22, (b) 29. (a)
2. (b) 9. (b) 16. (e) 23. (a) 30. (a) |
3. (b) 10. (a) 17. (e) 24. (b) 31 (b) |
4. (b) 11. (c) 18. (a) 25. (c) 32. (b)
5. (e) 12. (b) 19, (e) 26. (a) 33.%, (e)
6. (e) 13. (b) 20. (e) 27. (b) 34, (b)
7. (c) 14. (b) 21. (b) 28. (b) 35. (c)
1. (¢)Given 81564 7. (c) Greatestfive digit number
b4 x1 9
8+ 10 = 9999
5 x 100 Smallest five digit number
1 x 1,000
—— 8 x 10,000 = 10000
2. (b) Expanded form of 648345 = Difference = 99999 — 10000
600,000 + 40,000 + 8,000 + 300+ _ 89999
40 + 5. : h
8. (e) ' Distance covered in one hour
3. (b) A B =
& = =12 km
President house India gate ~. Distance covered in 6 hours
The length-between two fixed =12x6=72km
points is calleda line segment. 9. (b)'-1km=1000m
4. (b) Thexe are 8 triangles in the - 4km =4 x 1000 = 4000 m
AT
e Ny 4 km 5 metre = 4000 + 5 = 4005 m
5. (c) 65 kg =65000
() g g 10. (a) A sphere has only one curved
Difference = 65000 g — 62450 g .
ace.
i 11. (¢) Th hexagon
. (€ e figure given is a he
=2kg 550 g : gu 5 :
and it has six vertices.
6. (c)52367m/ = 52000m/ + 367m¢

= b2/{

367m/



Bigtaj Bxplauations 13
12. (b) 2 is the smallest even number. 21. (b) 1980 — 1890 = 90.

13. (b) Product of a number by 0is 0.  22. (b) Short form of 50000 + 4000 +
14. (b) A year has 12 months. 300 + 20 + 8 is 54328

There are 100 cm in 1 metre.  23. (a) 1524 + 12 = 1536
15. (a) " The cost of 12 toffees =¥ 6  24. (b) Cody had green ap;b= 1230

= 600 paise Red apples = 827
» ¥1 =100 paise Total numbex les
.. The cost of 1 toffee =1230 + 82‘7‘& 9500
_ 600 _ e O\baise Applessold = 6783
12 Applesleft
16. (¢) A cube has length, width and = 9500 — 6783 = 2717
height, eight corners and all sides 98 \(¢y" - In 1 minute a tap dispense
are equal. water = 5 litres
17. (¢) The correct descending order.is - In 1 hour (60 minutes) it
38411 7 4 : :

5 —>— 9 > = 5 § dispense water =5 x 60 = 300 litres
(Sol. 18 to 20) : 26. (a) The cost of 1 rice plate =< 230
18. (a) Given The cost of 1 plate of green

@5 = 500 snumber of vehicles vegetables =X 175
numberf scooters is parking The cost of 1 cup of curd =X 35
-3 *Q@@ £ 1500 Cody paid =X 230 +X 175 +
19. (e¢) Number of cars in parking T35 =440
=2 x 500 = 1000 27. (b) The largest 4 digit number
20. (¢) Number of auto in parking = 9999
=3 x 500 = 1500 The smallest 2 digit number = 10
Thus, number of scooters = The sum of largest 4 digit number

Number of auto and smallest 2 digit number =






